t9_funcop_1 (TMXySmXqMN-
QeHNU;j342CcJKF6FbeTL51Y Uo)

October 27, 2020

Let vl_relat_1 : t=>0 be given. Let v1_funct_1 : 1=0 be given. Let k10_zxtuple_0 :
1=t be given. Let kl_tarski : 1=t be given. Let k2_funcop_1 : 1=1=-1 be
given. Let k9_xtuple 0 : 1=-1 be given. Let rl_tarski : t=t=-0 be given. Let
k2_zfmisc_1 : 1=>1=>1 be given. Assume the following.

VX0.VX1.(rltarski X0 X1)=(rl_tarski (k9_ztuple_0 (1)
X0) (k9-xtuple 0 X1))

Assume the following.

VX0.(vlrelat-.1 X0)=(rl_tarski X0 (k2_zfmisc_1 (k9_ztuple_0 )
X0) (k10_xtuple 0 X0)))

Assume the following.

VX0.((vlrelat-1 X0)A(vl_funct-l X0))=(VX1.((
virelat-l X1)A(vl-funct-l X1))=(((k9-xtuple 0 X0 = k9_ztuple 0  (3)
XDA(rltarski X0 X1))=(X0 = X1)))

Assume the following.
VX0.VX1.rl_tarski (k9_ztuple 0 (k2_zfmisc.1 X0 X1)) X0 (4)

Assume the following.

VX0.VX1.(vlrelat-l (k2_funcop-l X0 X1))A(vl_funct_1 (5)
(k2_funcop-1 X0 X1))

Assume the following.

VX0VX1.k2_funcop-l X0 X1 =k2_zfmisc.1 X0 (kl_tarski (6)
X1)

Assume the following.
VX0VX1.(X0=X1)=((rltarski X0 X1)A(rl tarski X1 X0))  (7)

Theorem 1

VX0.((vlrelat-1 X0)A(vl_funct_1 X0))=(VX1.(k10_ztuple-0
X0 =kl tarski X1)=(X0 = k2_funcop-1 (k9_ztuple_0 X0) X1))



